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( Major )
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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following :
weTe fraprRd Ted ford

(a) Choose the correct option : 1x5=5
W7 [{Fwce MR Tfee

(i The problem of ‘scarcity and choice’
mainly give rise to

“REere] S DS TR 24 e
e CHPREE -

1. problems of underdevelopment’
e =
A7/371 ( Turn Over



/371

(2)

2. econdmic problems

QRARE St

3. non-economic problems

S-S ST

- 4. None of the above
ST ble Ty

@ If the indifference curve is a
downward sloping straight line, it
means that the goods are o
Rers quem I e R e
T =, Cof AT X T8 (¥ TaPE

1. perfect substitutes

+ Rem

. 2. perfect complementaries

o R

3. usedbin equal amoul:xt
TRARITS 7S

4. None .of the above
ST «ile m |

(i) Fixed cost is found
&1 I comar
1. in the long-run only

99 TS

( Continued )

A7/371

(3)

2. in the shoft-run only
(e TS

3. both in the short-run and the -
long-run

- ZEFE W e s
4. None of the above
G9qq OIS T

(iv) A linearly homogeneous production
function depicts

SREAART STRANAT BT T OIX PR
1. increasing returns to scale
FRIYI T AT
" 2. decreasing returns to scale
FREPTA TR 2
3. constant retumé to scale
RS TN A

4. All of the above
S[q LI

(v) At the lowest point of the AC curve
% I (AC) @R fwey R '
1. AC is greater than MC

TS T AIRT IISF AR
( Turn Over)




¢ 4) | (5)

2. AC is less than MC . . (b) What is income effect? .
IS 7 2IRF IMSF T o Rers &2 |
3. AC is equal to MC R (c) Draw the Engel curve for an inferior
TS I 2AMRF IAT T o good. .
4. AC is double the MC g8 7R I GO e (@ A |
e ﬁl@? T im = (d) What is factor elasticity of substitution?
(b) What is Giffen good? 1 Boim e BT 2
e R . : . . . . (¢ What are the conditions of profit
. e ep oy indiff maximization in terms of marginal
(c) (1::[;:;210; acl);lseis limitation of indifference . revenue and marginal cost?
' T AT WH WF ART W VOIS A
%.(33 RemT 9o Tarwer Tay +40| | ,
e S , BRI TERol & 2
(d) Define sunk cost. 1
fRafss /SPmE- 79 ke fi |
_ R 3. Answer the following questions (any foun :
(e) What is production possibility curve? 1 5x4=20
et A G %7 v oo o e (R e SR :
() What is cross elasticity of demand? - 1 _ - (a) Distinguish between stable and unstable
s e Rfdgewe 7. : B equilibriums.
7 O SR SPTOR T N o 70
2. Answer the following questions : 2x5=10
woq PP TeT o - - . (b) Briefly explain the. applications of the

concept of consumer’s surplus.
(a) What is static equilibrium? ‘ | SO T8 4R , ¢ -
(=% el % 2 t ‘

291 { CAantinti1od )
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(6)

(0 Why two indifference curves cannot
intersect? Explain.

woE fFRerE @4k R o FRI GIRIE ?
1 40|

(d) Draw the TFC, TVC, AVC and AFC
curves.

P B 99, P AR T, o AR
I S G 79 I @ T 4

(e) What are the different types of returns to
scale? Explain.

Ry oEe TR LR 1 6 2 < 4 |

(N Explain the relationship among AR, MR
and elasticity of demand.

T o, AT O W SIRwe fRfoween
TS =9 A0 90 1

4. Answer the following questions (any four) :
10x4=40

oo 2PRd Bed fordl (R et wifh)
(a) Discuss some basic market models

indicating whether they work through
the market or interfere with the market. 10

IGRI @ PR 9 (7 IR GO

2R I (AR Reggm g e =il

SICEAToAT 97 |

A7/371 ( Continued )

(b)

(c)

(d)

(e)

(7))

Discuss the properties of indifference

curves with diagrams. 10
foam e fASeers @R RREPER SeEH
I ‘

Discuss the derivation of demand curve
from the price consumption curve. 10
7 Bereel (g o]l vifdm @ Rt Sfevean

T, S 41 |

Discuss the procedure of derivation of
Engel curve. 10

GUEE (I BfEAS TTRASCH! ST 4 |

Discuss critically the law of variable
proportions. 10
AR Sere  REGT e I
ST F4T |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquants and isocost lines. 2+8=10

ST TR A {2 ATATE (I A
A (@R AYTS [ FC T IR R

S 91 =, A 4 |
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(8)

(g) Discuss the derivation of production
possibility curve from contract curves. 10

FEM @R [ R Beaqmm TR @RI
Sferear =, ScEmsA 90 1

(h) Discuss the nature of the short-run and
long-run average cost curves. Why is the
long-run average cost curve flatter than
the short-run average cost curve? 7+3=10

TREA OF TFAT T T QW A4S
AT F91 | ZIFIAA 51T I (FASE NHFA
1% I8 91 Ry @R =17
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' ]
A7 ennnlarzl 3 (Sem-1) ECO M



3 (Sem-1) ECO M 2
2016
ECONOMICS
" ( Major )
Paper : 1.2

( Macroeconomics )

Full Marks : 80
Time : 3 hours
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Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : ~ 1x10=10
SO PR e fort =

(a) What do you mean by ‘circular flow of
income’?

| Sgoei DRI SRTT A R

(b) Mention two problems faced in National
Income Accounting.

B S IR 01 24 ST SeER 90 |

A7 127D ( Turn Over )



(2)

(c) State Say’s law of market.
= o R Seew 401

(d) What is the meaning of the term
‘aggregate demand’?

TR v WA 2

(e) What do you mean by ‘paradox of thrift’?
9 MY WA [ 2

() Define multiplier.
B%q Izl ford |

{g) Give two objective factors affecting
consumption function.

Toer Foe el RIR T 101 g8 Tomm

TERF

(h) Write the meaning of induced
investment.

wfae RifcmsR o fo |

(i) Define marginal propensity to consume.
AE (1t 2RO I F9 9

(3)

(i) Define reverse operation of the multiplier.

BT PO AifeF vigeE for |

2. Answer the following questions : 2x5=10
oo epPTR e o
(a) State Keynes’ psychological law of
consumption.
Frr eI Serss R

(b) Distinguish between average propensity
to consume and marginal pr_opensity to

consume. .
ST (Sl SRS W AT (I AITON e
N fora | |

(c) Mention two leakages of the multiplier.
@] oL R IS T 1

(d) Give .tﬁe difference between aggregate
demand function and aggregate supply

function. _ N
ARE TR T S AT e FoS Ao
oiefer forn ! ‘
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(4)

(e) Write briefly about the importance of
investment multiplier in an under-

developed economy.

e SAHIee R g IR eo)e
BYCF fors |

3. Answer any four of the following questions :

5x4=20

o (I BIi¥0! ep Teq ey

(a) Define personal income,

disposable
personal income and national income.

&S 9H, TR e w7 e wow
TR 5% o1 |

(b) How did Keynes’ criticize the class1ca1

(c)

A7/372

theory of employment?

R Rwa iwPre famy wew  swicame
I5IA0IRRE 2

Mention some important factors
determining the consumption pattern of
a society.

G G Tl [T ARTT Fefy 41 o
SomePTgE & 15 9

( Continued )

(d)

(e)

4. Answer any four of the following questions :

(5)

With the help of diagrams, write the
differences between induced and
autonomous investments.

foqz =we, wdlts wF Fog RwR Tee
A1 fora |

Distinguish between marginal efficiency
of capital (MEC) and marginal efficiency
of investment (MEI).

TR Aifes Trel o RiaeR aifes rrer
NI foran |

Write brief notes on the following :

weTe frICaE oY O for
(i) Gross National Product (GNP)

T B TeATH
(i) Net National Product (NNP)
b TG Teofr

10x4=40

o R e Bifht @ T fora

(a)

A7/372

What are the methods usually adopted in
calculating national income? Give the
merits and drawbacks of each method. 10

I ww A e & R afed
TS Rl S SPREPTIR SC0T <54 |
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(6)

(b) Critically examine Keynes’ theory of

(c)

(d)

(e)

e Y. {2 ]

employment. . 10
$o P SR TCEIAREE SRl
SISIRTERT | - ‘

Discuss the subjective and objective
factors determining consumption
function. Write briefly about the
relationship between the marginal
propensity to consume and the

investment multiplier.
BogEret Faw PRl Reafd Bomm e e e
TAMIPTZ. S 90 | e Bostsr 21T
e RAGN @R WMo Tk R oE
forar 1 -

Explain the theory of accelerator. What
are its limitations? 6+4=10

@ AR O wemeN T (R SGOR
SrREerR @ %2

Discuss the relationship between
national income and economic welfare.
Does an increase in national income
always lead to welfare? 10

B W W WA I e TR

SCooA 911 B A e AW AN
FEA ?

1 Camtimtied )

6+4=10

A7--5000/372

(7)

Explain the importance and significance
of the measurement of national income.
Discuss the various difficulties faced

while calculating national income in
underdeveloped countries. 6+4=10
4B W feeE gve i o TR
we wdRifee AW W AT 0O

N SRR S 0
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